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QUESTION 1

You must configure DHCPD on a system with one interface to support only the clients that require a fixed address. 

What must you define in /etc/dhcp/dhcpd.conf to meet this requirement? 

A. one SUBNET definition, without a RANGE definition, and multiple HOST definitions 

B. one SUBNET definition, without a RANGE definition, and multiple HOST definitions 

C. only one SUBNET definition with a RANGE definition 

D. only one SUBNET definition without a RANGE definition 

Correct Answer: C 

 

QUESTION 2

Which three situations can result in a kernel panic if the required paramaters are set appropriately? (Choose three.) 

A. panic if disk I/O rate exceeded an administrator-specified limit 

B. panic if a task hangs on disk read for more than an administrator-specified limit 

C. panic when CPU utilization remains at 100% for more than an administrator-specified limit 

D. panic when out of memory 

E. panic if a task hangs on disk write for more than an administrator-specified limit 

F. panic if network I/O rate exceeds an administrator-specified limit. 

Correct Answer: ABC 

 

QUESTION 3

Examine the virt-install command. 

# virt-install \ 

--connect qemu:///system \ 

--virt-type kvm \ 

-- name test \ 

-- ram 500 \ 

--disk path =/var/lib/libvirt/images/test.img, size=4 

--cdrom /home/user01/DownLoads/OracleLinux-R6-U5-Server-x86_64-dvd.iso \ 
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--os-variant oe16 

Which two statements are true? 

A. The --connect option specifies the credentials for the hypervisor to use. 

B. The --name option specifies the name of the new guest virtual machine instance. 

C. The --ram option specifies the memory to allocate for a guest instance in MB. 

D. The --virtype option specifies that only the keyboard, video, and mouse are fully virtualized. 

E. The --disk option specifies the media to use as storage for the guest. The size of the storage will be 4 GB. 

Correct Answer: AB 

 

QUESTION 4

Which three statements are true about accessing Windows shares from Linux with SAMBA on Oracle Linux? 

A. The findsmb utility queries a file to find SAMBA servers. 

B. The username required to access the SAMBA shares on Windows may be specified in the mount command. 

C. FTP may be used to access SAMBA shares on Windows. 

D. The password required to access SAMBA shares on Windows may be specified in the mount command. 

E. The smbtree utility queries a file to find SAMBA servers. 

F. The smbclient utility uses a lowercase version of the environment variable USER or LOGNAME if the username is not
provided on the command line. 

G. The username and password required to access SAMBA shares on Windows may be specified in /etc/ fstab. 

Correct Answer: AEF 

Reference: http://docs.oracle.com/cd/E37670_01/E41138/html/ol_about_samba.html#idm139784792480512 

 

QUESTION 5

What is the purpose of the kpartx command? 

A. It is a graphical XWindows application to manipulate kernel partition tables. 

B. It is a graphical XWindows application to manipulate partition tables on disk. 

C. It prints virtual disk partition tables. 

D. It manipulates and prints virtual disk partition tables. 

E. It creates device maps from partition tables. 
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Correct Answer: E 

The kpartx command creates device maps from partition tables. Each guest storage image has a partition table
embedded in the file 
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